Ratio to Herwig++ 2.7.1 default
=

1960 GeV ppbar Top

pT (top) (pTtt > 50 dy > 0)

--O-- Herwig++ 2.7.1 default
--4-- Herwig 7.2.1 default

Bt e 5.
(34

(parton level)
T

)=

mcplots.cern.ch [arXiv:1306.3436]

—¥— Herwig 7.2.1 softTune e
— (MC_FBA_TTBAR) —
_| 1 I 1 I 1 I 1 I 1 | 1 I 1 I 1 I 1 I 1 | 1 I 1 I 1 I 1 I 1 | 1 I 1 I 1 I 1 I 1 | 1 I 1 I 1 I I_
:l T T T T | T T T T | T T T T | T T T T | v T ITI I|I I:
- [f iR
— . AV e i I .
EPIE U ey 1=, S g 7 g TR L gl n
— i \ b BT ‘ll qnh {] J. ’ \ ‘“ a =i/} : : —
SR IR AN
B : I [ l Ay
- I\I' - [ N Y
I ||'_‘s:| '|| i
— 1 1 |l 1
- :I 1
| : IR v
| 1 1 1 1 " 1 " 1 " 1 " 1 " 1 1 " l‘: : 1

NI ! P B
200 300

Rivet 3.1.10, = 2.9M events

N

0.5



	Contents
	Page 1


